Day #2:  



Name_________________________________________

Below is the number of days it took for soybean seeds to germinate.

5 7 7 8 8 8 9 9 9 9 10 11 12 12 12 12 14 15 17 21 22 22 22 23 25 27 27 28 28 28 30 30 30
1.  Find the 5 number summary for this data set:

Min_____
Q1_____
Median______
Q3_____
Max______

What is the range?_______ What is the inner-quartile range(IQR)? _____
Make a box plot.  Decide whether or not there are any outliers.  Justify your reasoning.
Make a histogram – bar width 10 where the bars include (1-10,11-20 etc)

2.  Given this data set, is 15 an outlier?  Justify your solution.
3 3 4 4 5 5 5 5 5 5 5 6 6 6 6 7 7 8 8 8 8 8 9 9 10 15

3.  Given these graphs, decide whether or not there is a significant difference between Group A and Group B.   Justify your answer using the “rule of thumb” for box plots.  Discuss which boxplots appear skewed and which appear symmetric.


On the first graph, what percent of SAT scores were between 400 and 550, for group B?  Between 550 and 650?
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On the second graph, where in the median for Group B?  How many scores in the interquartile range?
